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This Paper

Goal:

I How do CDS and bond markets evolve with the economy?

I How is default risk is allocated across market participants?

I How does this markets shape default and debt decisions?

How they do it?

I Use DTCC data on positions to get new facts

I Build a model of sovereign default with bonds and CDS

I Sovereign Bonds and CDS are traded at OTC market and
subject to search frictions



Empirical Results

I Large dealers on average hold negative (sell) positions on CDS

I Large dealers sell more protection when default risk increases



Model Results: Standard sovereign default model + OTC

OTC model block:

I investors and dealers

I search frictions: entry costs + matching technology

I sequential matching problem: �rst bond then CDS

I limit in the investor short position on the bond

Results:

I yields/default probabilities increase, dealers tend to sell
protection (why?)

I relaxing short selling constraint increases bond prices

I banning naked CDS has no impact in debt pricing (dealers are
the only ones holding bonds)

I Ban on CDS decreases bond prices



Comments

1. Flush out model mechanism

2. Is the impact the model �nd quantitative relevant?

3. Is it really the CDS or is it the short selling constraint?

4. Is the asset allocation generated by the model reasonable?



Comments 1: What is the model Mechanism?

My guess:

I CDS is equal to arti�cially shorting the bond

I investors really want to short bond and hit the constraint

I CDS allows them to circumvent the constraint

I They pay large fees, there are more dealers

I More dealers increase bond prices

I negative correlation is mechanical: higher risk, want to short
more, same constraint, more CDS

Question:

I Does the sequential OTC market does not matter at all?



Comments 2: Is the impact the model �nd quantitative

relevant?



Comments 3: Is it really the CDS or is it the Short Selling

Constraint?



Comments 4: Is the asset allocation generated by the model

reasonable?

I Naked Ban has no bite because:
I Investors hold only short bond and CDS
I Long bond is held by dealer

I Looking at the data: is this a reasonable result?



Conclusion

Nice project. But still very preliminary

I Authors need to fully pin down the mechanism and explain it

I Make sure it is quantitatively relevant


